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QUESTION 1

Click the Exhibit button. 

A number of reports from end users indicate that internal and external communications are intermittent and not reliable.
You verified the status of the switch ports and have determined that they are up and operational. You also noticed a
very high level of link bandwidth utilization on those same ports. The current topology of the affected environment is
shown in the exhibit. 

What would be the cause of the reported issues? 

A. A misconfigured interior gateway protocol (IGP). 

B. A lack of a loop-prevention mechanism or protocol. 

C. A lack of port-based ACLs filtering the traffic flows. 

D. A malformed route-based ACL improperly filtering traffic flows. 

Correct Answer: B 

 

QUESTION 2

What are two interarea OSPF LSA types? (Choose two.) 

A. Type 1 router LSAs 

B. Type 3 summary LSAs 

C. Type 4 ASBR summary LSAs 
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D. Type 2 network LSAs 

Correct Answer: BC 

 

QUESTION 3

Click the Exhibit button. 

Which statement is correct about the ISO NET address shown in the exhibit? 

A. The system identifier is 6800.1001.00 

B. The area identifier is 0001 

C. The authority and format identifier (AFI) is 00 

D. This is not a valid NET address 

Correct Answer: B 
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QUESTION 4

Click the Exhibit button. 

Referring to the exhibit, why is the route for 10.5.5.5 hidden? 

A. It is a martian route. 

B. It has an invalid community. 

C. It is an L3VPN route. 

D. The next hop cannot be resolved. 
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Correct Answer: D 

 

QUESTION 5

You are enabling dynamic ARP inspection on an EX4300 switch. 

Which service is enabled by default in this scenario? 

A. DHCP snooping 

B. persistent MAC learning 

C. MAC limiting 

D. IP Source Guard 

Correct Answer: A 
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